#H 1T I =
HYBRA A T B R
B ¥ 4 BT A SN (RAVATE 2 4%)
B Hra RO ATE 2 %
ANFL# B AF4E10H31H ZFHTLOBF
T & Al 4,281, 750  (N{HEHBL 389, 2509 )
%FLEHE MR B3 VR e T A R BT 3-22
CEIPYE TR
/& 1T 8 [ SFI4EL1LA LA ~ SM4E12A6H
% L& %8 2,825,900  (NTEEBL 256, 9009 )
K H AS4ELILA LA
B HE%E T4 B AL D FE i 12 B4 2 S S SO RTIZ L D
B =
(ARSI, HERIREOLETT)
£ R %1 [\ %2 A w3 [\ 4 £
I B2 R A — B A () [ %% 58 )
(M =R s R
B R EEE [ & & )
Lateid [ #e 3 ]
(ﬁ)ﬁ%ﬁﬁ/ﬁ\ 2, 569, Ooqu [ Yg 1:[_‘ ]

WD 7 . =

[ & a2 ]




e
i}
T
I

HYREA Bt ¥ —
B E 4 2Ky RLAZATYHEN
% BT BREDO LB
ANFL# B AF4E10H31H ZFHTLOBF
T & Al 1,359,600 (N{HEHBL 123, 6001 )
Rl ¥EE 7 B U - IR T BR AT 3411
BEHX AV
/& 1T 8 [ SFI4EL1LA LA ~ SF4E12A27H
i &8 1,240,800/  (PN{HEBL 112, 800 )
K H AS4ELILA LA
B EHE HE ¥4 e AL FEMEIZBE T 5 B 8 SO HEIC L D
B = BEHEMIN AL AR D W I 4 5 72
(ARSI, HERIREOLETT)
£ R - ]| %2 A %3 [\ 4 £

(/AR H B E S o
Rt — e 2 1,852, 5001
I B B F B ELR 295 WS R
HWFE HE R T2 [ 5 & ]

&

UD K7 v 7 AWM WD AHZ
~v—t o H—




